run_13079079 _FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Mar 20 00:04:12 2012
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run_13079079 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Mar 20 00:06:36 2012
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run_13079079 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Tue Mar 20 00:07:10 2012
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run_13079079 _FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Mar 20 00:04:16 2012
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run_13079079 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Mar 20 00:06:37 2012
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run_13079079 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Tue Mar 20 00:07:12 2012
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run_13079079 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
Tue Mar 20 00:04:21 2012
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run_13079079 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Mar 20 00:06:38 2012
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run_13079079 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Tue Mar 20 00:07:13 2012
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run_13079079 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Mar 20 00:04:26 2012
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run_13079079 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Mar 20 00:06:40 2012
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run_13079079 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Tue Mar 20 00:07:14 2012
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run_13079079 _FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Tue

Mar 20 00:04:30 2012
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run_13079079 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Tue Mar 20 00:06:41 2012
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run_13079079 FGT_RMS_1,Timebin=2,Disc=2,asmb=2DA
Tue Mar 20 00:07:15 2012
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run_13079079 _FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Tue Mar 20 00:04:35 2012
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run_13079079 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13079079 _FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
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run_13079079 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
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run_13079079 FGT_ADC _1,Timebin=2,Disc=3,asmb=3AB
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run_13079079 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
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run_13079079 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Tue Mar 20 00:07:21 2012
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run_13079079 _FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13079079 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13079079 _FGT_RMS_1,Timebin=2,Disc=4,asmb=4DA
Tue Mar 20 00:07:23 2012
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run_13079079 _FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Tue Mar 20 00:05:02 2012
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run_13079079 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13079079 _FGT_RMS_1,Timebin=2,Disc=4,asmb=4DA
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run_13079079 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Mar 20 00:05:06 2012
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run_13079079 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13079079 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Mar 20 00:07:24 2012
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run_13079079 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13079079 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13079079 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
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run_13079079 _FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13079079 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Tue Mar 20 00:07:05 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13079079 _FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Tue Mar 20 00:07:39 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

RMS (ADC-ped)

|||I||1111IIIII TETFELTTRIT

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

RMS (ADC-ped)

APV channel

g =
2 = 8 8 8 2
1) L 507 0PeoPeE0055090090005 Aty f M g’ 0P PR eRERE0e50980085ER00RE0e509800050R00300Ep0200030090030000090007 g o0009002
[=]
< 160 o m e s e e e e e e
2
x 140
120 B EEEEEE N TR § T S EE-EEEEET TS | T
100 f=——--rereelp o] S B I B e s - - EEEE X B B P FEREREEE B o o e g TEEE F H ) ST
80 oo fEledkbescadHbal8lcadHbs|ladfdbboasodpbodnososasscadheses N R N - Ry (P B R R R 1 1 R R [ dllescss
60 [ el o U B By P SRR R o 3 R F B R I B B 4 5 B B - L. R B R i b L
40 - qe- o] R LT ¥ B e - B e R P -
=
&) | =—=-cococdiboosi|esqpens B5950050950055095095903 =ECELLILE e modbbcoososco0soocscssamooasoosoasacscososas
0‘I_ 1 1
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

160

140

RMS (ADC-ped)

120 SR B B ! - g
o 414 1 : : R il :
80 :
50:_
40 f=

20

12
APV channel




run_13079079 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Tue Mar 20 00:06:17 2012

[ADC for FGT RDO=2,ARM=3,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=6 }

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=7 }

-ped

3000 4000
raw ADC

0 1000 2000

[ADC for FGT RDO=2,ARM=3,APV=8 }

-ped

Al
S

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=9 |

1000

2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

He - -

0

N
NE-.

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=6 }

4000

3500

ADC-ped

3000

2500

2000

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
I
=
=
0

1000 e
500 -
o -
E L . . i . . . i . . . i . . . i . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 fm— - - - -
< =
3000 fm— - - --
=
2500 f=— - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 f=— v - - - e e
=
o=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=3,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... . . s d i

10°

10

10

10°

10




run_13079079 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Tue Mar 20 00:07:07 2012

[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13079079 _FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Tue Mar 20 00:07:40 2012

[CADC RMS for RDO=2,ARM=3,APV=5__}

90
80

70

RMS (ADC-ped)

60

50

40

30

20

10

0
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=6 }

350

300 |+

RMS (ADC-ped)

250

200

150 |

100 =

50

0
0
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=7 }

%0 =

80

RMS (ADC-ped)

70 p=

60

50

40
=

30

20 =

10 —

N N N i
o 20
APV channel

140 5

120

RMS (ADC-ped)

100 f—
80 [+
i
60 [
40

20 [r

[ ADC RMS for RDO=2,ARM=3,APV=9 "}

RMS (ADC-ped)

APV channel




run_13079079 FGT_ADC _1,Timebin=2,Disc=4,asmb=4CD
Tue Mar 20 00:06:21 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13079079 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD

Tue Mar 20 00:07:08 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13079079 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Tue Mar 20 00:07:41 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13079079 FGT_ADC _1,Timebin=2,Disc=4,asmb=4CD

Tue Mar 20 00:06:23 2012

[ ADC for FGT RDO=2,ARM=3,APV=17

-ped

Al

10°

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3 APV=18

0 1000 2000

3000 4000
raw ADC

[ ADC for FGT RDO=2.ARM=3,APV=19
—

1000 2000

3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=3,APV=20

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3 APV=21

2000

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=3,APV=17_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© B R R A A

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=18 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 ==
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=19 }

- 4000 p—=
] =
o =
Q 3500 f=— -
% =
3000 f=—
=
2500 f=— -|
=
2000 =
=
1500 = -|
1000 = -|
=
500 f=— -
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=3,APV=20 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. .. N .. .8 A

10

107

10

10

10°




run_13079079 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
Tue Mar 20 00:07:08 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

—
1500 p—
h—
1000 f——
—
500 p—
L—
—
0 b=
500 = i . . . i . . . i . . . i . . . i . . . i
£22h o 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

I
=y 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13079079 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Tue Mar 20 00:07:41 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=18 "}

RMS (ADC-ped)

140

120

100

80

60

40

20

—
n=)
Zl
—
L
= i i . i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=19 }

RMS (ADC-ped)

140

120

100

80

60

40

20

0

i
120

°TH|II1'|'I'I'I'[HI TIT HI|I11'|'I'I

APV channel

[CADC RMS for RDO=2,ARM=3,APV=20 _}

RMS (ADC-ped)

i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=21 "}

RMS (ADC-ped)

140
120 r
100 |-

80 [

60

40

20 [

APV channel




run_13079079 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Tue Mar 20 00:06:28 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5BC

5,asmb

iIsc=

2,D

IN=

b

Ime

Tue Mar 20 00

run_13079079_FGT_MPV_1,T

:09 2012

07

2,ARM=4,APV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=1 |

ARM=4,APV:

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=2}

ARM=4,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2 ARM=4,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

=7}

ARM=4,APV:

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13079079 _FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Tue Mar 20 00:07:42 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13079079 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC

Tue Mar 20 00:06:29 2012

[ADC for FGT RDO=2,ARM=4,APV=5 }

1000 2000

[ADC for FGT RDO=2,ARM=4,APV=6 }

3000

4000
raw ADC

1000 2000

[ADC for FGT RDO=2,ARM=4,APV=7 }
|

3000 40(

raw ADC

2000

[ADC for FGT RDO=2,ARM=4,APV=8 }

3000 40(

raw ADC

1000 2000

[ADC for FGT RDO=2,ARM=4,APV=9 |

3000

4000
raw ADC

2000

3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

i
120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0f=—
E_. . . i . . . i . . L i " . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—

% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
=
APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=9 "}

- 4000 p— - - - - - -
o =
9 3500 f=— - -
< =
3000 f=—- -
2500 f=— - -
=
2000 fm—— - -
=
1500 f=— - -
=
1000 p=—— - -
=
500 f=— - -
=
ofE—===
E_. . . i . : . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

... .4 . d E..a Eeya

10

10

10

10

10




run_13079079 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC

Tue Mar 20 00:07:09 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

[ ADC MPV for RDO=2,ARM=4,APV=6 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

-500

[ADC MPV for RDO=2,ARM=4,APV=7__}

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

i
20 40 60 80 100 120
APV channel

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




=5BC

5,asmb

iIsc=

2,D

In=

b

Ime

Tue Mar 20 00

run_13079079_FGT_RMS_1,T

142 2012

07

2,ARM=4,APV=5__}

[CADC RMS for RDO

120

(pad-0av) sy

W

APV channel

2,ARM=4,APV=6 }

[ ADC RMS for RDO:

120

100

60

20

20

(pad-0av) sy

APV channel

2,ARM=4,APV=7 "}

[ ADC RMS for RDO:!

120

(pad-Dav) SWy

APV channel

2,ARM=4,APV=8_|

[CADC RMS for RDO

—

LT

|

—

120

IS

T e T S

180
160
140

o
I
=

(pad-0av) sy

I %E_:_

=

_z

o

APV channel

2,ARM=4,APV=9 "}

[ ADC RMS for RDO

::::"__:"__.__m___

120

100

160 fm— - v e r e
140 Pm—ve e

(pad-0av) sy

o
IS}
=

Q
5

=}
@

=}
3

o
I

o

APV channel



run_13079079 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Tue Mar 20 00:06:34 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13079079 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Tue Mar 20 00:07:10 2012
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run_13079079 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Tue Mar 20 00:07:44 2012
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